#### Colusa High School Future Business Leaders of America

### **Request for Financial Support - National Leadership Conference 2019**

Colusa FBLA is seeking financial support for 7 students to attend the National Leadership Conference in San Antonio, TX.

Conference Dates:	June 29-July 3, 2019
Location:	Henry B. Gonzalez Convention Center San Antonio, Texas
Accommodations:	Marriott Plaza San Antonio 555 S. Alamo Dr. San Antonio, TX 78205
Attendees:	7 eligible members 1 adviser 1 chaperone

Anticipated Cost: See attached for details

Due to the location of the National Leadership Conference, expenses are especially high. In order to encourage greater student involvement in FBLA for years to come and instill a sense of pride in the students' tremendous accomplishment, we would like to offer as much assistance as possible to those committed to competing at this conference.

It should be noted that in the 2015-2016 and 2016-2017 academic school years, CUSD School Board generously covered the costs of the one student that qualified to compete at the National Leadership Conference. Further, Colusa has never had this many students qualify to compete at NLC.

# Estimated Cost Breakdown Option A - 6 Students (original estimate)

Conference Registration Fee\$120Hotel\$294	(2 rooms at \$220.00/night for 4 nights
	2 boys to one room and 4 girls to one room)
	(estimate only) (\$35 per day allowance x 5 days)
Meals \$173	(\$55 per day anowance x 5 days)
Total Estimated Expenses\$1,13	39/student
Adviser	Costs
Conference Registration Fee \$120	
8	(4 nights at \$220.00/night)
	(\$35 per day allowance x 5 days)
Total Estimated Expenses\$1,17	75/adviser
Chaperon	e Costs
Conference Registration Fee \$50	
e	(4 nights at \$220.00/night)
	(estimate only)
	(\$35 per day allowance x 5 days)
Total Estimated Expenses\$1,65	55/chaperone
Anticipated Add	litional Costs
Vehicle Rental \$500	
Hotel Parking \$100	
Airport Parking \$60	
Total Estimated Expenses\$660	
Total Trip	
6 Students @ \$1,139/student	\$6,834
1 Adviser @ \$1,175/adviser	\$1,175
1 Chaperone @ \$1,655/chaperone	\$1,655
Anticipated Additional Costs	\$660
Total Trip Costs	\$10,324
Student Contributions - Meal Costs	\$ (\$1,760)
<b>Remaining Balance</b>	\$8,564
Estimated Total Cost/Student \$1,42	?8/student

## Estimated Cost Breakdown Option B - 6 Students

Updated to include additional expenses and contribution of travel awards from CAFBLA

Sta Conference Registration Fee	u <b>dent C</b> \$120	osts	
Hotel		2 rooms at \$220.00/night for 4 nights	
	2 boys to one room and 4 girls to one room)		
Flight		estimate only)	
Meals	\$175 (3	\$35 per day allowance x 5 days)	
Total Estimated Expenses	\$1,139	/student	
Ad	lviser C	osts	
Conference Registration Fee	\$120		
Hotel	\$880 (4	4 nights at \$220.00/night)	
Meals	\$175 (\$	\$35 per day allowance x 5 days)	
Total Estimated Expenses	\$1,175	/adviser	
Cha	perone	Costs	
Conference Registration Fee	\$50		
Hotel	\$880 (4	4 nights at \$220.00/night)	
Flight	\$550 (e	estimate only)	
Meals	\$175 (\$	\$35 per day allowance x 5 days)	
Total Estimated Expenses	\$1,655	/chaperone	
Anticipate	d Addi	tional Costs	
Vehicle Rental	\$550		
Hotel Parking	\$112		
Airport Parking	\$60		
Van Mileage (to/from Sac. Airport)	\$60		
Total Estimated Expenses	\$782		
Tot	al Trip (	Costs	
6 Students @ \$1,139/student		\$6,834	
1 Adviser @ \$1,175/adviser		\$1,175	
1 Chaperone @ \$1,655/chaperone		\$1,655	
Anticipated Additional Costs		\$782	
Total Trip Costs		\$10,446	
Student Contributions - Meal	Costs	(\$1,760)	
CAFBLA Travel Awards		(\$600)	
<b>Remaining Balance</b> Estimated Total Cost/Student	t <b>\$1.34</b> 8	<b>\$8,086</b> /student	

# Estimated Cost Breakdown Option C - 7 Students

Conference Registration Fee	udent Costs \$120
Hotel	\$294 (2 rooms at \$220.00/night for 4 nights
Flight	2 boys to one room and 5 girls to one room) \$550 (estimate only)
Flight Meals	\$175 (\$35 per day allowance x 5 days)
Wears	\$175 (\$55 per day anowance x 5 days)
Total Estimated Expenses	\$1,139/student
Ad	dviser Costs
Conference Registration Fee	\$120
Hotel	\$880 (4 nights at \$220.00/night)
Meals	\$175 (\$35 per day allowance x 5 days)
Total Estimated Expenses	\$1,175/adviser
	perone Costs
Conference Registration Fee	\$50 \$220 (4 minhto of \$220 00/minht)
Hotel	\$880 (4 nights at \$220.00/night)
Flight Meals	\$550 (estimate only) \$175 (\$25 per day allowance y 5 days)
Meals	\$175 (\$35 per day allowance x 5 days)
Total Estimated Expenses	\$1,655/chaperone
Anticipat	ed Additional Costs
Vehicle Rental (two 5-pass. cars)	\$375
Hotel Parking	\$225
Airport Parking	\$60
Van Mileage (to/from Sac. Airport)	\$60
Total Estimated Expenses	\$720
T-4	
7 Students @ \$1,139/student	al Trip Costs t \$7,973
1 Adviser @ \$1,175/adviser	\$1,175
1 Chaperone @ \$1,655/chap Anticipated Additional Costs	
Anticipated Additional Costs	\$ \$720
Total Trip Costs	\$11,523
Student Contributions - Mea	l Costs (\$1,760)
CAFBLA Travel Awards	(\$600)
<b>Remaining Balance</b> Estimated Total Cost/Studen	<b>\$9,163</b> t \$1,309/student